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Region XY, 2016 Flows [t/yr], Stocks [t] notWendig
Urbaner Stoffhaushalt, 3. VU, 17-03-2017, Oliver Cencic 15/82
Bl Ubung 2

Runden Sie auf signifikante Stellen:

12.345 + 123 => 12.350 + 120
234,567 + 0,345 => 234,6+0,3
987,234 + 0,267 => 987,23 + 0,27
134 + 8,16 => 134+8

6.627 + 50,16 => 6.630 * 50

Urbaner Stoffhaushalt, 3. VU, 17-03-2017, Oliver Cencic 27/82

bi.

bi.



B Losung 3

mz =my —my =V *p; —my

My =V, * py — M, =80+ 0.2 — 100 = 160 — 100 = 60
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var(ms) = <6—V1> « var(Vy) + (5_f)1> xvar(p,) + <6—mz> * var(m,)

var(ms) = p;? * var(Vy) + 1712 * var(py) + (—1)%* var(my,)
var(ms) = 22 * 82 + 802 x 0.2% + 12 * 102 = 612
s(mz) = V612 = 24.7 kg/a

Urbaner Stoffhaushalt, 3. VU, 17-03-2017, Oliver Cencic 33/82

bi.



